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SECTION - II (PHYSICS)

In a screw gauge, if the zeroth division of the head scale is above the index line, then the correction is
(1) Negative (2) Pesitive

(3) May be positive or negative (4) No need of correction

A 9ieas® Sotpen 4rdg QrdEn D B AODD ad), H56w

(1) 2 erd) 80 (2) gwgso

() &>ggo 88 awwd)go (4) d6m wdhvso S

Heliocentric theory was first proposed by :

(1) Galileo (2) Kepler (3) Tolemey (4) Copernicus

Ardg o8 drrodhng AnEEIBT HEIG0DH

(1) ”OOEr (2) =36 () & (4) 5°30)85

A body moves from one corner of an equilateral triangle of side 10 ¢m to the same comer. Then
the distance moved and displacement are respectively

28 3% 10 0., 2hadno o e (Bebe 28 360 208 wolenBd BOA d ik 365 © wm)
Boxreo TR Srdo, FlFosRve HEDT

(1) 30 cm, 20 cm (30 %0.2.. 20 20.8.) (2) 30 cm, 0 cm (30 0.2, 0 %0.2b.)

(3) 0 cm, 30 cm (0 0.2, 30 20.2) (4) 30 cm, 30 cm (30 20.&. 30 20.2b.)

- Two balls are falling freely from the heights with a ratio of 9:64 towards the earth. Find the

ratio of their velocities on reaching surface of the earth.
Sodb wodie 9:64 33 do Ibeo wod Bedy ™ FrbFH HESHEHTIow. €, ¥ SHoSeD) T&HEI

Hos o8 e B
(1) 3:4 (2) 43 3) 83 @) 38 .
Onaplanetastone projected vertically upwards with a velocity of 10 m/sec reaches the highest point
after 2 seconds. If it is thrown with a velocity of 20 m/sec, it reaches the highest point after a time of

@8 [0 10 ./, BK08° ApdenHrr MBS Tran 2 EY °00s® HOR I Bdos. TV 20 ./,
Br508° MBI b [0Y IS VLD Hewsreo :

(1) 1sec (1 28%) (2) 2 sec (2 a8p) (3) 4sec @ 8p)  (4) 6 sec (6 )

A car moves from 4 to B with a constant speed of 20 kmph and then from B to 4 with a constant
speed of 30 kmph, then the average speed of the car is

28 5°6) A $08 B £ 20 8.2, / fo. 30588° Faw, B8A B Hod A & 30 8.d./ko. H0HBE* 38A SIS @
5 o700 DB

(1) 24 kmph (24 8. / #0.) (2) 25 kmph (25 8.2. / f0.)

(3) 10 kmph (10 8.3. / %0.) (4) Zero (3r50)

The ratio of angular speeds of minutes hand and hour hand of a watch is

28 ABarrso &°0 Jdwhiue Hug HBo Kot Hwew Sdan Idwe IS

(1) 1:12 2) 6:1 (3) 12:1 @) 1:6

If a body of mass 5 kg revolves in a horizontal circle of radius 1 m with a frequency of
7 revolutions/second, the centripetal force acting on the body is

5 8% (Sg07R Ao 28 P 1 WO TgPE0 Mo DS By Hrgos” VELH 7 Ebmiven B
BOHDHNS, © SPHP TP w0l wvo

(1) 440 N (440 &rgergo) (2) 484 N (484 &rgeodo)

(3) 968 N (968 durgern) (4) 9680 N (9680 &rgeoo)
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The time period of oscillation of simple pendulum is doubled when

(1) Itslength is doubled

(2) The mass of the bob is doubled

(3) Its length is made four times

(4) The mass of the bob and the length of the pendulum are doubled

o8 o S'ofo Gy Sooddd sohud 8o BanHBHH)
(1) od P 8ot Soxds.

Q) o 502D Beod Bavso.

(3) o PEHR Treurh By BoNSBH.

(4) R (8s550°80 Mboty S0k PEHD B0 BalHBW. -
A curved road of 50 m radius is banked at certain angle for a given speed. If the speed is to be doubled
keeping the same banking angle, the radius of the curvature of the road is to be changed to

50 g TG0 o a8 DyEsd Srgo a8 FrId o ELwdH0. ©F TwsEr) dod, Sl o
BodBDD) U Hygrss Hrd TR, ™ & E)HTK.

(1) 25 m 25 &) (2) 100 m (100 )  (3) 150 m (150 ) (4) 200 m (200 &v.)
The one that is not an example for electromagnetic wave is

(1) X-rays (2) -~y -rays (3) Radio waves (4) Sound waves
63 (308 TUS* g WOHA08 SERKVOD AIrEH SO
(1) X - 8o (2) 7- Swiven  (3) dBar ddordwen (4) D Somdwe

Velocity of sound is measured in hydrogen and oxygen gases at a given temperature. The ratio of
two velocities 7}, /V,, will be

aigwdd dPFHS 5F IS ¢gd Tand, B8 IS ¢ M V), [V, o 38

(1) 1:4 2 4:1 (3) 1:1 @) 32:1

In a stationary wave the distance between an antinode and an alternate antinode is

w8 6 SE0rhNS® 28 POED R0, ) ST ED $°E ODNE [0S Q";éaéno Hgsg drdo
3A

M A @ % 3) % @ 7

The velocity of sound in air is 360 m/sec while that in water is 1440 m/sec. If the wavelength of

sound in air is 2 cm that in water is

mOS® 6530 B0 360 . / P, IWS® ¢ Frfo 1440 ./, mOS® S80r B0 2 0.2, wowd S Ssor

8¢so0
(1) 0.5cm (05 %0»)2) 2cm @) (3) 8cm 8 wod) (4) 16 cm (16 2o.ad)

75  The frequency range of microwaves is

DE® S6orre FHDTLL ©5H

(1) 10°Hz to 10! Hz (2) 10°Hzto 108 Hz

(3) 103Hzto 105Hz (4) 10'2Hz to 1014 Hz
76  Velocity of light in glass is 2 x 108 m/sec. The refractive index of glass is

e 508 Sko 2 % 108 &/ . reer $82588 toseso

2 3 4 9

1) 3 @ 3 @ 3 L/ R
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77  According to Hygens theory, light travels in the form of
(1) Waves (2) Corpuscler
(3) Some times waves and some times corpuscler (4) Electromagnetic waves
Fua) %){g*oééné.) @080 sPo8 ™ [Dolredod.
(1) #Sordnen (2) gedwen
(3) TG ddorrenrra, (4) ddgsatIn o8 Sdorrenne
B8 Gy Sesdwenrin
78 To get interference phenomenon, the distance between the two sources must be
(1) Less to the extent possible (2) More
(3) Less or more (4) Phenomenon does not depend on the distance
DgBESEH RIBAD TrHTNN), s08 evso Hugy drdo :
(1) dwonod S5nS GoEHTR. (2) S aoudBH
(3) S8ps s S (4) Syfictiono wdsme Hgi Erdo D BE-SHE
79  The repulsive force between two magnetic poles is 20 dynes when they are placed 20 cm apart.
If the distance between them is decreased from 20 cm to 5 cm, the force of repulsion between
them is
Soty waHJod &yre a’wcﬁg &rdo 20 0.2, SDpd 3 g fo e woo 20 B o dogg
Brord) 20 Do, 00d 5 Dol o SHoDIS s g o dSdm woo
(1) 80 dynes (80 @) (2) 320 dynes (320 @)
(3) 160 dynes (160 @) (4) 40 dynes (40 @)
80 Even after the removal of the applied magnetic field, a magnetic material retains certain amount of
intensity of magnetisation. This property is called
(1) Susceptibility (2) Magnetic Induction
(3) Retentivity (4) Permeability
28 VoY 08 Igo SHO8 woIRoBLEo Th wrirg VoHI S EEm) BuBvar, S3S° §os
D08 SPHSD Ibr‘bmgg‘ﬁ qsa?a"&)l oK ?
(1) 52p00¢ (2) wonIos (6
3) 5530633:‘3 (4) @d4g Boxs
81  Which one of the following groups belong to ferromagnetics _
(1) Water, Brass, Gold (2) Alcohol, Oxygen, Platinum
(3) Iron, Cobalt, Nickel (4) Gadolinium, Aluminium, Chromium
Bod Jurdrivos® PE® waA 08 Suririn
(1) . asd. worrdiw (2) wepdrs, eBys, Fedo
() =, S%rd, JBS (4) RES*Dovo. wargddoro, EdaLo
82  The units of rnagnetlc flux density i
(1) Weber/metre (2) Weber/metre? (3) Weber-metre (4) Weber-metre
o008 WHrdr Fo(GSH (Dl
(1) 306 / Deos (2) 36 / dos? (3) s - doHd 4) b - il:c:Jc’uz
83 Among the following wires made of the same material, which wire will have highest resistance
o8 Dorgins® Savadd Bod Srud® wsns I8%o suB B ?
() I=1m, A=1mm2(1=1 D A=125%) @) I=1m, A=2 mm? (I=1%. A=2 257
B) I=2m, A=1mm*(I1=22. A=12) @) I=2m, A=2mm*(1=2. 4=2 D)
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Ten identical resistances, each having a resistance of 1) are joined in pa.rallel The combination has
the resultant resistance of

287256 10 Jdend Ko 10 grod ddroddor $DLSHE, $Os A&°So

(1) 100 2) 10 3) 0.010 4) 0.1Q
Gram/Coulomb is a unit for

(1) Potential difference (2) Specific resistance

(3) Electromagnetic force (emf) (4) Electrochemical Equivalent (e.c.e)

D / Sreod wodd B8 pirso

(1) >BIGS 3o T (2) 285 o

() dewgmmyws w0 (4) 8® B0 Sergoso

The work done in passmg a current of 4 A for 2 seconds through a conductor having a potentxal
difference of 8 V is .

2.8 irgoss® 8 é.;%no @BQQI}J ﬁéﬁn&;}e,p 4 eo%ga:bg .3(:3355 Eardran 2 8P ddw @é&r‘?_’aﬂ 207 29
(1) 4 Joules (4 &&y) (2) 16 Joules (16 &Sy)
(3) 64 Joules (64 =Sy ' @) 1 Joule (0 &)

A step-up transformer is used on a 120-volt line to provide a potential difference of 2400 Volts at
2 Ampere current. If the primary has 100 turns, the number of turns in secondary are

28 0 - 8D RPGER 120 Seve BonSs® H0HoDIDE, 2 8PN IS Hardro HF 2400 Leve
TEINS 250 BB, HEEd S0 By Sopg 100 eonddE e Svo S° HE Hows
(1) 2000 (2) 200 (3) 400 4) 1000

An instrument used to measure [sotopic masses is known as

(1) Calori meter (2) Spectrometer

(3) Mass spectro graph (4) Sphero meter

St Ho @ésc‘"&)wé.) §PeuthHdd &dGIrAot HO5EHW

(1) 3% Dodd ’ (2) 8y Dok

(3) |BdgorR dgHe T (4) s Des

The isotope of carbon used in carbon dating of finding the age of fossiles is

5°6)® B0 g Furere HBYD BNHTHSH GITrAoD SE)S FE™Y

(1) C-14 2 C-12 (3) C-13 4) C-15
Among the following, choose the incorrect statement '

(I) A p-njunction diode conducts in forward bias

(2) A p-njunction diode offers less resistance under reverse bias

(3) A p-njunction diode does not conduct under reverse bias

(4) A p-njunction diode is used as an electric switch

Bod &dS* $05°0 DSy A EVED

(1) oo 208" p-n 2ogh daird dgdb HHirod Bokd,
(2) 0B 2a0eDS* a8 p-n 20ES BGIrd v JB°r) SenriEatui,
(3) A6 20XPRS* 28 PN 2088 BCIRE gDy PHr0D Do
(4) pn 208 d@rdd Asoe® RRE eesdsy.
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SECTION - III (CHEMISTRY)

The atom of the element which shows half filled d-orbitals
(1) Vanadium (2) Zinc (3) Chromium (4) Copper
pOydore Hrio odd d-ebytrgd Srd fures e B ?
(1) »3&ao (2) 208 (3) E*vavo (4) o°n
92  The symbol of the element with the outer electronic configuration of 4s!, placed in S-block is
4s! Jog=S Ieg08® wosHk Sorf furesin Gwg), Jodsin : -
(1) Na (2) Sc 3 K (4) Rb
93  The element, which shows three unpaired electrons in its atom, in ground state is
SrFons® &5 S6)6. GBECYEHNOS” rd) 2000 JOFIPW BrYy MO
(I) B (2 Be 3) F 4) N
94 Mention the total number of electrons present in the p-orbitals of the atom, having atomic number 15
D6 Dogyg 15 o HrosH DI S® o Swdo pﬂaaeygéi o JosmR dogg Jod ?
(1) 3 @ 9 3) 2 (4 3
95  The bonds present in NH: ion are
(1) One ionic bond, three covalent bonds
(2) One covalent bond, three coordinate bonds
(3) One ionic bond, three coordinate bonds
(4) Three covalent bonds, one coordinate bond
NH, woirSe* o mogine
(1) 28 o8 0G0, Hurd HHGIrEIAD VOGP
(2) 28 dH%ckredod OGO, PG JBHOH JHEIrEA0L0 WO
(3) ¥ words wogo, Hurdy HHAH HREredoh woGre
(@) Sord sHGradan 20, w8 SHHgaH HHErE0D Bogo
96  One of the following phenomenon takes place in the formation of NaCl molecule
(1) Na atom acts as oxidising agent (2) Clatom acts as oxidising agent
(3) Cl atom acts as reducing agent (4) They undergo neither oxidation nor reduction
oo §°88 e JEYMOS® 2t S6g o
(1) Bovo w8 ssedr HAVotod (2) §88 wyscar HIBow
(3) £°85 gowsdede HIBow (4) ©&y$6e rmd gansde B65 R a2
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97 If the positive ion configuration s 152 2 s 2p® and the negative ion configuration is 2252 2p8
in an ionic compound, then what is the molecular formula of the compound
28 walrdS Hrgod® ()8 Lo’ dargdo | 20 2p® HBas Cerd)E woXrS dagio | s? 25% 2p°

@Wowd, @ éo‘*g&n wED @‘63&6‘ 98 9

(1) KF (2) NaCl (3) NaF (4) KCl
98  The period which contains s, p, d block elements
(1) 204 period (2) 3" period (3) 4t period (4) 15t period
5.p.d 2§ furoswd) 28008
(1) 25 HBaxs (2) 35 LBk (3) 45 %8008 (4) 15 HBoxs
99 Jonisation energy of nitrogen is higher than ionisation energy of oxygen. This is'due to
(1) Decrease in the atomic radius (2) Increase in the atomic radius
(3) Stable electron configuration (4) Completely filled orbital
FE*=S T, GaNISEH 8 ewd YBY2S Ko I8 Y. 6O
(1) sosrem mggo Sgo (2) st agrdo e
(3) %S Jogmiy argidn (4) &8 Jodd wbyrS dodd

100 Which of the following pair of atomic numbers indicate the elements of the 'S' block ?
& B0 TS D 28 dwroso Horm dopgen 'S 8 dirostody drdgron ?

) T, 13 2) 10, 12 (3 11,12 @4 8,9
101 Atoms with small size have
(1) High ionisation energy (2) Great tendency to loose electrons
(3) More electropositive (4) Less electron affinity values
HEHre) HBATERRD SERIT B HETEHO
(1) ©0J86m 38 &y sotwod (2) JdogShy FSoh Kerdo TP D
(3) &% xerdo erer JEpd (4) QozS M Denden SEnD
102 Alkaline earth metals are highly reactive. Because they are
(1) Electro negative in nature (2) Electro positive in nature
(3) Atomic radius increases (4) Non-metallic nature

6 )88 S'Hen o HGFH SHfen. BB S6wo

(1) sureswe e deerdo (2) &% dgardo
(3) dAwrose H6hrm HOETRO WD (4) ws's Rardo
103 Magnesium oxide is ,
(1) Acidic (2) Basic (3) Neutral (4) Amphoteric
Sfyudho uByE & (Bod dxerard) SO sotod ; J
(1) e 2) = (3) S0 (4) &g e
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104 The element which gives dazzling light when burnt in air
oSt D0d5Ht DosoHerod S0 2y Sreso
(1) Be (2) Ca (3) Sr (4) Mg
105 If 500 ml of 0.5 M HCl solution is changed to 0.1 M strength, find out the volume of water to be
added.
500 .. 0% $0EP0 KO 0.5 M Hel [ordmind 0.1 mEgss Srcydoss) 2os® Jod A8 SodsB.
(1) 2500 ml (2) 1000 ml (3) 2000 ml (4) 1500 m]
106 How many number of moles are present in 3.2 grams of NaOH ? (Mol. wt. = 40)
3.2 [rawe Fdavo TrEB)B (@ grdo) abod &) Hdd drdo dogg od ?
(1) 0.08 (2) 0.008 (3) 0.8 4) 12.5
107 Find out the volume of 0.05 M HClI required, in ml, in order to neutralise 0.2 M NaOH of 40 ml.
40 2.9. 0.2 M NaOH [mrdedndy S6R880Ho%, I 0.9, 005 M Hel eddsan?
(1) 160 () 80 (3) 45 4) 120
108 Mention the compound among the following whose acidic property can not be explained by Arhenius
theory
©BADHS derodin & od Srgined® B g ey GEpiu HBoDBD ?
(1) CH;COOH (2) CO, (3) HCl (4) HNO,
109 If the pH of a given solution is 9, find the concentration of [H+} ions in it.
RS péw@ PH Dewid 9 wond vl GwE) [H+l WOl e Jod?
(1) 1075 @ 107 (3) 107! 4) 1014
110 If the pH of a solution is zero, what will be its nature ?
(1) Acidic (2) Basic (3) Neutral (4) Amphoteric
o8 e PH = 0 wond & @00 o $oyd) Srpd ?
(1) e ¢80 (2) g5 g5 (3) 8o 50 (4) dbgrard 6o
111 Functional group in alcohols
©ep S (HabaD HErRED
i i
(1) - CHO ) —(!—OH © 3 —8—0R (4) - OH
112 Alkenes are more reactive than alkanes. This is due to
(1) Double bond (2) Triple bond
(3) Single bond (4) Valence of carbon is satisfied
u®) Sew, YT o8 JENd écvgf?oé;&n 50n dotron, SV NO S GEHw
(1) BgwoEdy 0A dodoty (2) Beoerdy SOA dode
(3) 2% 206 SOA dodt (@) 56)S dedrmd Jody )b
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Unsaturated hydrocarbon among the following

(1) Propane (2) Butane (3) Ethene 4)

& 808 IS® wdos B TIE S

(1) @ss (2) argBS (3) &b 4)
114 Carbon compounds which react with Tollen's reagent

(1) Alcohol (2) Aldehyde (3) Alkane 4)

5'05) 6808 $EgS ot 58S Hopeiin

(1) woss 2) wsadirs (3) &S 4)
115 The type of coal which gives large amounts of heat .

(1) Lignite (2) Bituminouscoal (3) Anthracitecoal  (4)

©5%. G @ B8 5D BPod ?

(1) o5 Q) DexgsS S (3) wodRS P 4)
116 Polysaccharide among the following

(1) Fructose (2) Glucose (3) Sucrose 4)

%3 80 RS D506

(1) g ) oes B) &Es Q)
117 The process of obtaining alcohol from molasses is called as

(1) Dehydration (2) Defecation (3) Carbonation 4)

oS 08 wepFS ot rard) DL ?

(1) &wdss ) 35848 (3) =638 @
118 The compounds which contain Zwitter ion structure

(1) Amino compounds (2) Acids (3) Amino acids 4)

2006 wairS Jomo Sv EVIYED

(1) D& dorddwm (2) edren (3) VS sdrew 4)
119 The following catalyst is used in the hydrogenation of oils

arFodn TrEPEdERinss HBBLSYE: & Bod ANt TAME

(1) Mn (2) Fe (3) Ni “4)
120 Glass is a mixture of

iy mrees® o Sopg Sogioe 3D 7

(1) Na,CO4, CaSiO; (2) CaCOj, Aly(SOy);

(3) Na, SiO;, CaSiO; (4) BaSO;, CaCO;
CEEP-2012_A] 15

Ethane

Coke

Hoe aS"r'niJ

Starch

208 K)a"gﬁm

Fermentation

8eae [DIEO0

Ethers

Hagben

Co
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